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GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING — SEMESTER - II « EXAMINATION — WINTER 2015

Subject Code:3320501
Subject Name: Organic Chemistry
Time:2:30PM TO 5:00PM

Instructions:
Attempt all questions.

Figures to the right indicate full marks.

English version is authentic.
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Q.1 Answer any seven out of ten.
Define :- Homologous series.
Define :-Functional group.
What is Boiling point.
Explain Isomerism.

What do you mean by Estimation.

Give catalytic reduction of Alkene.
Give the general formula of Alkane.
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Explain soaps and Detergent.

(a) Explain Crystalisation.
(b) Explain sublimation.

(b) Differentiate Aliphatic and Aromatic hydrocarbon.
(¢} Give classification of Dyes base on Structure.

(¢} Give classification of Soaps and Detergent.
(d) Explain Lassaigne’s test for the detection of Nitrogen and Sulphur

Make Suitable assumptions wherever necessary.
Use of programmable & Communication aids are strictly prohibited.

. AL Wts.C=12,H=1,0=16, Ag =108, I = 127,

List the types of Structural Isomerism.

List the name of purification of liquid organic compounds.

Give Two Example of Carbohydrates.

OR

OR

OR

in an organic compounds with equations.

(d) Explain Duma’s method for the estimation of nitrogen in an organic 04

compound.

Q.3 (a) Explain saturated and unsaturated hydrocarbon.

{a) Write short note on Carbohydrates.
{(b) Wurtz synthesis.

(b) Friedel-crafit’s reaction.
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Write short note on Geometrical isomerism.
OR
Give the Synthesis, Properties Benzene Or Toluene.
Sulphonation of aromatic compounds.
OR
Nitration of aromatic compounds.

Give equation for conversion of following.
(1) Benzene to Benzaldehyde.
(2) Phenol to Nitrobenzene.

OR
Give equation for conversion of following.
(1) Benzene to Aniline.
(2) Phenol to Salicylic acid.

0.12gm of an organic compound gives on combustion 0.1375gm of
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water and 0.2221gm of COz. Find out the percentage of Hydrogen and Carbon

in the compound.

OR
How will you test the purity of organic compound? Describe the
Method use to determine melting point of an organic solid.
Write IUPAC name of following.

(1) CH3-CH2-CO-CH3. (2) HOOC — COOH.

(3) HO-CH2-CH2-CH2-OH. (4) CH3-COOCH3.
{5) HCHO. (6) CH2=CH-CH=CH?2.

(7) Br-CH2-CH2-CL

Write structural formula of following.

(1) Cyclo butane. (2) Methoxy methane.

(3) 2-Hydroxy, 2-methyl butane (4) Methanoic acid

0.20gm of an organic substance when heated with excess of strong
nitric acid and silver nitrate gave 0.3522gm of Silver iodide.
Calculate the percentage of iodine in the compound.

Write Grignard reagent synthesis and its applications.

Distinguish between Alkane, Alkene and Alkyne.
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(1) CH3-CH2-CO-CH3. (2) HOOC — COOH.(3) HO-CH2-CH2-CH2-OH.

(¥) CH3-COOCH3. (\) HCHO. () CH2=CH-CH=CH2.(9) Br-CH2-CH2-CL.
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